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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 4th Semester Examination, 2022  

DSC1/2/3-P4-CHEMISTRY 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
All symbols are of usual significance. 

Use separate Answer scripts for Section-A (Inorganic) and Section-B (Physical) 

 SECTION-A / িবভাগ-ক / lewg-d 
INORGANIC CHEMISTRY 

1. Answer any two questions from the following: 1×2 = 2
 িনmিলিখত েয-েকান dিট  pেűর উtর দাওঃ 

 dquS nqbZ iz”udk mÙkj nsÅ & 
  (a) What is the hybridization of Cobalt in [Co(H2O)6]2+ ? 

[Co(H2O)6]2+ জিটল েযৗগিটেত েকাবাl-এর সংকরায়ন েকানিট ? 
[Co(H2O)6]2+ ek dksckYVdks gkbczhMkbts”ku ds gqUN \ 

(i) sp3 (ii) sp3d2 (iii) d2sp3 (iv) dsp2  
  (b) Write the valence state of ‘Pt’ in [Pt(NH3)3Cl]Cl — 

[Pt(NH3)3Cl]Cl েযৗেগ pয্ািটনােমর জারণ sর হল — 
[Pt(NH3)3Cl]Cl ek ‘Pt’ dks HksysUl LVsV ys[kA 

(i) –1 (ii) 0 (iii) +2 (iv)+3 

(c) Which one has the lowest paramagnetism? 

েকানিটর পরােচৗmক ধমর্ সবর্িনm ? 
fuEufyf[kr e/;s lcls dErh ikjkesXusfVle~ dqudks gqUN \ 

(i) [Mn(H2O)6]2+ (ii) [Fe(H2O)6]2+ (iii) [Co(H2O)6]2+ (iv) [Cr(H2O)6]2+ 

(d) What is the relation between 0  and t ? 

0  এবং t  এর মেধয্ সmকর্িট হল 

0  vfu t  ek>dks lEcU/k ds N \ 

(i) t0
 (ii) t40

9  (iii) t9
4

0  (iv) t0  
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2.   Answer any two questions from the following: 5×2 =10
 িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ
 fuEufyf[krckV dquS nqbZ iz”udk mÙkj ys[k &

(a) (i)  What are co-ordination compounds? How do they differ from double salt? 1+2
  sবগর্ীয় েযৗগ িক ? এেদর সােথ যুg লবেণর পাথর্কয্ িক ?
  leUo; ;kSfxdg: ds gqu~ \ Mcy lYV nsf[k f;uhg: dljh fHkUu gqUN \ 
 (ii) Explain why transition metals exhibit variable valency. 2
  েকন সিnগত েমৗলgিল পিরবতর্নশীল েযাজয্তা েদখায় ?
  VªkfUl”ku /kkrqg:ys Hksfj,cy H;kysUlh fdu ns[kkmN & O;k[;k xjA

(b) What is CFSE and calculate its values for 5d  system in octahedral and 
tetrahedral field? Calculate its value for low spin ligands also. 

2+2+1

 CFSE িক ? অŶতলকীয় ও চtsলকীয় িফl-এ 5d -এর CFSE-এর মান গণনা কর। ‘low 
spin’ িলগােnর েkেtও ইহার মান গণনা কর। 

 CFSE Hkusdks ds gks \ vDVkgsMjy vfu VsVªkgsMjy fQYMek ,mVk 5d O;oLFkkdks 
;ldks eku fu.kZ; xjA yks-fLiu fyx.Ml~-dks fufEr ifu ;ldks eku fu.kZ; xjA 

(c) (i)  What do you mean by d-block elements? 2

  d –bক েমৗল বলেত িক েবাঝ ? 
  d-block rRog: HkUukys ds cqf>UN \

 (ii) The d-block elements are generally coloured whereas the ‘s’ block and ‘p’ 
block elements are colourless — Explain. 

3

  ‘d’ bক েমৗলgিল সাধারণত রিঙন হয়। িকnt ‘s’ bক এবং ‘p’ bক েমৗলgিল বণর্হীন হয় েকন 
বয্াখয্া কর। 

  ‘d’-block dks rRog: izk; jaxhu gqUN rj ‘s’-block vfu ‘p’-block dk 
rRog: csjax gqUN & O;k[;k xjA 

  
3.   Answer any one question from the following: 10×1 =10

 িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ
 fuEufyf[krckV dquS ,d iz”udk mÙkj ys[k &

(a) (i)  Discuss about Linkage isomerism with example. 2

  উদাহরণ সহেযােগ িলেìজ আইেসােমিরসম সmেকর্ আেলাচনা কর।
  mnkgj.k lfgr ‘Linkage isomerism’ ekfFk ppkZ xjA
 (ii) State and explain Werner’s theory with example. 3
  ওয়ানর্ােরর তttিট িববতৃ কর ও উদাহরণ িদেয় বয্াখয্া কর।
  mnkgj.k lfgr Werner dks fl)kUr O;ä xfj O;k[;k xjA

 (iii) [NiCl4]2– and [Ni(CO)4]-both are tetrahedral but their magnetism are 
different — Why?  

2

  [NiCl4]2– ও [Ni(CO)4]-উভয়ই চtঃsলক হওয়া সেttও ইহােদর েচৗmকt িভn—  েকন ? 
  nqoS [NiCl4]2– vfu [Ni(CO)4]-VsVªkgsMjy Hk,rkifu mfug:dks pqEcdRo fHkUu 

gqUN & fdu \ 
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 (iv) What is John-Teller Effect? 1
  জন-েটলার িkয়া িক ? 
  John-Teller ifj.kke Hkusdks ds gks \

 (v) What happens when FeCl3 reacts with Potassium Ferrocyanide Solution? 2
  পটািসয়াম েফেরাসায়ানাইেডর জলীয় dবেণ FeCl3 েযাগ করা হল—  িক ঘটেব েলখ। 
  Potassium Ferrocyanide nzo.kflr FeCl3 dks izfrfØ;k gq¡nk ds gqUN \ 

(b) (i)  Discuss about the factors on which CFSE depends. 3
  CFSE-এর মান েকান  ্ েকান  ্ িবষেয়র উপর িনভর্র কের আেলাচনা কর।
  CFSE fuHkZj gqus dkjdg: ckjs ppkZ xjA

 (ii) The magnetic moment of [Mn(CN)6]3– and [MnBr4]2– are respectively 2.8 
and 5.9 B.M. What are the geometries of these complex ions? Draw the 
structure.  

2+1

  [Mn(CN)6]3– এবং [MnBr4]2– এর েচৗmক Çামক যথাkেম 2.8 এবং 5.9 B.M.। ইহােদর 
জয্ািমিতক গঠন িকrপ হেব ? ইহােদর জয্ািমিতক গঠন অìন কর। 

  [Mn(CN)6]3– vfu [MnBr4]2– dks E;kxusfVd eksesUV ØeSl¡x 2.8 vfu 5.9 
B.M. gqUN Hkus f; tfVy vk;ksug:dks T;kfefr dLrks gqUN \ lajpukdks fp= 
cukÅA 

 (iii) Why does the green precipitate of Fe(OH)2 becomes brown after 
sometime?  

2

  সদয্-অধঃিkp সবজু েফরাস হাই»kাইড kমশঃ বাদামী হেয় যায় —  েকন ?
  Fe(OH)2 dks gfj;ks Fksxzks dsgh {k.k ifN fdu [kSjks gqu~ tkUN \

 (iv) How could you differentiate between Fe2+ and Fe3+ by chemical reaction? 2
  রাসায়িনক িবিkয়ার সাহােযয্ িকভােব Fe2+ এবং Fe3+ েক পৃথকভােব িচিhত করেব ? 
  jkl;kfud izfrfØ;kys Fe2+ vfu Fe3+ dks fHkUurk dljh NqÍÓkmu lfdUN \ 

  
 SECTION-B / িবভাগ-খ / lewg-[k 

PHYSICAL CHEMISTRY 
4. Answer any three questions from the following: 1×3 = 3
 িনmিলিখত েয-েকান িতনিট  pেűর উtর দাওঃ 

 fuEufyf[krckV dquS rhudk mÙkj nsÅ &

  (a) With increase in temperature, the fluidity of liquid 
(i) increases  (ii) decreases  

(iii) remain constant (iv) may increase or decrease  
 তাপমাtা বৃিdর সিহত তরেলর lইিডিট 

(i) বােড়  (ii) কেম 
(iii) rবক থােক  (iv) বাড়েত ও কমেত dই পাের 

 rkieku dks cn~uqek ,mVk rjydks rjyrk 

(i) cn~nN  (ii) ?kVn~N 

(iii) fLFkj jgUN  (iv) cn~uq ;k ?kVuq lDN 
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  (b) Define surface tension of a liquid. 
 ‘তরেলর পৃŸটান’ সংjা দাও। 
 ,mVk rjydks lrg pkidks ifjHkk’kk ys[kA

(c) Explain the terms viscosity and viscosity coefficient. 
 িভসেকািসিট ও িভসেকািসিট েকাএিফিসেয়n বয্াখয্া কর।
 foLdksflfV vfu foLdksflfV dksfQfl;UV ing:dks O;k[;k xjA

(d) What do you mean by molecularity of a reaction? 
 েকান একিট িবিkয়ার মিলিকউলািরিট বলেত িক েবাঝ ?
 ,mVk izfrfØ;kdks *eksfyD;wykfjfV* HkUukys ds cqf>UN \

(e) Write down the unit of surface tension. 

 ‘পৃŸটান’-এর ইউিনট সmেn েলখ। 
 lrg pkidks ,dkb ys[kA 
  
5.   Answer any one question from the following: 5×1 =5

 িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ
 dquS ,d iz”udks mÙkj ys[k & 

(a) (i)  An ideal gas can never be liquified.  2

  েকােনা আদশর্ গয্াসেক কখনই তরেল পিরণত করা যায় না।
  ,mVk vkn”kZ X;klykbZ dfgys rjy cukmu lfdUnSu~A O;k[;k xjA

 (ii) What are the units of constant ‘a’ and ‘b’ in the Van der Waal’s equation? 1
  ভয্ানডার ওয়ালস ্ সমীকরেণর a ও b rবকgিলর ইউিনট িক িক, তা েলখ।
  Van der Waal dks lehdj.kek fLFkjkad ‘a’ vfu ‘b’ dks ,dkbg: ds gqu~ \ 
 (iii) Why is the drop of liquid spherical?  2
  তরেলর েফাঁটা েগালাকার হয় েকন ?
  ,mVk ikuhdks Fkksik fdu xksyks gqUN \

(b) (i)  The water flow time for an Ostwald viscometer is 59.2 sec at 25 C. If 46.2 sec 
are required for the same volume of ethylbenzene (density = 0.867 g cm–3) to 
flow through the capillary. Calculate its absolute viscosity at 25 C 
(Given  w = 0.00895 poise at 25 C).    

3

  ২৫ C তাপমাtায় ওস ্ ্ওয়াl িভসেকািমটার জেলর pবাহ সময় ৫৯.২ েসেকn। যিদ ৪৬.২ 
েসেকn pবাহ সময় একই আয়তেনর ইথাইলেবিĂেনর (ঘনt = 0.867 g cm–3) pবােহর 
সময় লােগ, তাহেল ইহার অয্াবসিলউট িভসেকািসিট িনণর্য় কেরা (২৫ C তাপমাtায়) 

 ( w = 0.00895)। 
  25 C ek ,mVk vksLokYM fHkLdksfeVjckV ikuhdks cXus~ le; 59.2 sec NA R;lS 

D;kfiysjh ckV leku vk;rkudks ethylbenzene (density = 0.867 g cm–3) ykbZ 

cXu~dks ykfx 46.2 sec ykXN Hkus R;ldks 25 C absolute viscosity fu.kZ; xjA 
(fnb,dks N  w = 0.00895 poise at 25 C)A 

 (ii) Define an ideal gas. What are the causes for deviation of real gases from 
ideal behaviour? 

2
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  আদশর্ গয্ােসর সংjা দাও। pkত গয্াস, আদশর্ গয্ােসর tলনায় আচরণগতভােব আলাদা ধমর্ 
েদখায় েকন ? 

  vkn”kZ X;kldks ifjHkk’kk ys[kA vkn”kZ O;ogkj nsf[k fopyu gqus okLrkfod 
X;klg:dks izof̀rdk dkj.kg: ds gqu~ \ 

  
6.   Answer any one question from the following: 10×1 =10

 িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ
 dquS ,d iz”udks mÙkj ys[k & 

(a) (i)  A first order reaction is 40% complete in 50 minutes. In what time will the 
reaction be 80% complete? 

3

  একিট pথম ওডর্ার িবিkয়া ৪০ শতাংশ সmn হয় ৫০ িমিনেট। িবিkয়ািটর ৮০ শতাংশ সmn 
হেত কত সময় লাগেব ? 

  50 feuVek ,mVk izFke Øedk izfrfØ;k 40% iw.kZ gqUN Hkus dfr le;ek R;l 
izfrfØ;k 80% iw.kZ gqusN \ 

 (ii) Define zero order reaction. Show the graphical representation for the 
following for zero order reaction: 

 িজেরা ওডর্ার িবিkয়ার সংjা দাও। এই িজেরা ওডর্ার িবিkয়ার gািফকয্াল িরেpেজnেটশন 
দাও িনেmর অবsাgিলর জনয্ 

 “kwU; Øedk izfrfØ;kdks ifjHkk’kk ys[kA fuEufyf[krdk “kwU;Øedk 
izfrfØ;kg:dks js[kkfp= cukÅ & 

 (A) tC  vs t 

 (B) Rate vs concentration / েরট vs. কনেসেnশান 

1+1+1

 (iii) Order and molecularity of a reaction may not be the same. — Explain.   2
  েকােনা িবিkয়ার ওডর্ার এবং মিলিকউলািরিট সমান নাও হেত পাের। বয্াখয্া কেরা। 
  ,mVk izfrfØ;kdks Order vfu molecularity leku ugquq ifu lDN & O;k[;k 

xjA 
 (iv) Show that for a first order reactions. 
  ProductA  

  
k

t 693.0
2/1  

2

  pমাণ কেরা, েকােনা pথম ওডর্ার িবিkয়ার েkেt
  ProductA  

  
k

t 693.0
2/1  

  ,mVk izFke Øe dk izfrfØ;kdks fufEr & 

  ProductA  

  
k

t 693.0
2/1  

 ekfFk fnb,dk lehdj.k izkIr xjA 
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(b) Write short notes on the following (any four): 2 2
1 ×4 =10

 সংিkpসার েলখ, িনmিলিখত েযেকােনা চারিট  pেűরঃ
 dquS pkj ekfFk laf{kIrek fVIi.kh xj &

 (i) Collision theory  
  কিলস ্ ন িথওির
  dksfy”ku fl)kUr 
 (ii) Activation energy  
  অয্ািkেভশন এনািজর্ 
  ,fDVHks”ku mtkZ 
 (iii) Boyle temperature 
  ‘বেয়ল’ তাপমাtা 
  oks;sy rkieku

 (iv) Compressibility factor 
  কমেpিসিবিলিট ফয্াkর 
  dEizsflfcfyVh ¶ÓkDVj 
 (v) Most Probable velocity 
  েমাs েpাবাব ্ ল েভেলািসিট 
  lcSHkUnk lEHkkfor osx 
 (vi) Molecularity.
  মিলিকউলািরিট।
  eksfyDÓwY;kfjVhA 
 ——×——

 


